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(D) a+p=0+w

2) (a+8)+y=a+(B+7);

B)TEV PHFEETLR 0, X EE acV, Ha+0=q;

(4) XF v HEANITTER o, FF1E 6, a + 5 =0;

(5) a(la+ B) = ac + aff;

(6) (a+b)a = ac + ba;

(7) (ab)a = a(ba);

(8) la = a,
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MR 1 FEmEE—. L, % 01,0, #EEME, W 0 =07 + 02 = 0.

PERT 2 M — FELE, o+ =0=a+0h MG =5+0=
B+ (a+pfy) = (Bi+a)+ 02 =0+ 02 = Bo. a WRAFEIEH —a. ATLIE CFER
Wik o — B =a+ ().

PR 3 IMER o, 8,7 €V,

W Fa+tB=a+y U E=m

2)0a=0,AHa=0+a=1la=(0+1)a=0a+ la=0a+a, H (1), 1%
Oa = 0;

(3) a0 =0, K~ aa+ a0 = a(a + 0) = aa, HZES a0 = 0;

4) (—Da=—-a,HH a+(—a)=0,—a=(-1)a;

(5)aa=0,M a=08a=0FEHNEa#0,N0=alea=a.

%5 BEHME o = (1,-1,0,-1), 8 = (-2,1,0,0), v = (—1,—2,0,—1), M
a+f+v=(-2,-2,0,-2), 3 — 4+ 5y = (0,—14,0, —8).
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